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version 12.1
service timestanps debug dateti ne nsec
service timestanps | og datetime nsec

!

host nane Routerl

[

interface SerialO

description DCE connection to sl Router2
i p address 10.0.0.6 255.255. 255. 252

no i p nroute-cache

cl ockrate 56000
!



//www.cisco.com/en/US/tech/tk801/tk36/technologies_tech_note09186a0080121ac5.shtml
//tools.cisco.com/Support/CLILookup/cltSearchAction.do
//tools.cisco.com/RPF/register/register.do

ip route 192.168.7.0 255.255.255.0 10.0.0.5

2t E 2

version 12.1
service tinmestanps debug dateti ne nsec
service tinmestanps | og datetinme nsec
!
host nane Rout er 2
!
x25 routing
!
i nterface LoopbackO
ip address 192.168.7.1 255.255.255.0
!
interface Serial 0
description DCE connection to s1 Router3
encapsul ati on x25 dce
no i p nroute-cache
cl ockrate 64000
!
interface Seriall
description DTE connection to sO Routerl
i p address 10.0.0.5 255. 255. 255. 252
|

x25 route 123 interface Serial 0

!

translate tcp 192.168.7.2 x25 123
translate x25 345 tcp 10.0.0.6

ct<*E3

Rout er 3#show running-config
Bui | di ng configuration..

Current configuration
!
version 12.1
service timestanps debug dateti ne nsec
service timestanps | og datetime nsec
host nane Router3
!
i p subnet-zero
!
x25 routing
!
interface Seriall
description DTE connection to sO Router2
encapsul ati on x25
x25 address 123
!

x25 route 345 interface Seriall

show BHL2 =3 QI ZE[E E oM X|PE|=O|(SSE n2Eh), 0| ES AE5HH show B
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Rout er 2#show debug

TCP:

TCP speci al event debugging is on
X. 29 PAD:

X25 PAD debuggi ng is on
X. 25:

X. 25 special event debugging is on
Protocol translation:

Protocol Translation debugging is on
Rout er 2#

Rout er 1#telnet 192.168.7.2
Trying 192.168.7.2 ... Qpen
Trying 123... Qpen

User Access Verification

Passwor d:
Rout er 3>
Rout er 2#
*Mar 1 01:50:28.759: TCPO: state was LISTEN -> SYNRCVD [23 -> 10.0.0.6(11007)]
*Mar 1 01:50:28.763: TCBO0499CAC setting property TCP_TCS (11) C0094
*Mar 1 01:50:28.767: tcppad2: fork started
*Mar 1 01:50:28.767: TCP: sending SYN, seq 3338770911, ack 4026886977
*Mar 1 01:50:28.771: TCP2: Connection to 10.0.0.6:11007, advertising MSS 1460
*Mar 1 01:50:28.775: TCP2: Connection to 10.0.0.6:11007, received MSS 556, MSS is 556
*Mar 1 01:50:28.791: TCP2: state was SYNRCVD -> ESTAB [23 -> 10.0.0.6(11007)]
*Mar 1 01:50:28.803: pad_open_connection: found a valid route
*Mar 1 01:50:28.807: Serial0: X.25 ORl Call (11) 8 lci 1
*Mar 1 01:50:28.811: From (0): To (3): 123
*Mar 1 01:50:28.811: Facilities: (0)
*Mar 1 01:50:28.815: Call User Data (4): 0x01000000 (pad)
*Mar 1 01:50:28.827: Serial0: X.25 1 RL Call Confirm(5) 8 lci 1
*Mar 1 01:50:28.831: From(0): To (0):
*Mar 1 01:50:28.835: Facilities: (0)
*Mar 1 01:50:28.835: PAD2: Call conpleted
*Mar 1 01:50:28.839: PAD2: Control packet received.
*Mar 1 01:50:28.851: PAD2: |nput X29 packet type 4 (Read X. 3 param) len 1
*Mar 1 01:50:28.855: PAD2: CQutput X29 packet type O (Paraneter indication) |en 45
1:1, 2:1, 3:2, 4:1, 5:0, 6:0, 7:4,
8:0, 9:0, 10:0, 11:14, 12:0, 13:0, 14:0, 15:0,

16:127, 17:21, 18:18, 19:0, 20:0, 21:0, 22:0,
*Mar 1 01:50:28.879: PAD2: Control packet received.



*Mar 1 01:50:28.883: PAD2: |nput X29 packet type 6 (Set and Read) len 9

2:0, 4:1, 15:0, 7:21,
*Mar 1 01:50:28.887: tcppad2: Sending WLL ECHO
*Mar 1 01:50:28.891: PAD2: Cutput X29 packet type O (Paraneter indication) len 9

2:0, 4:1, 15:0, 7:21,

Rout er 2#show %25 vc
SVC 1, State: D1, Interface: SerialO
Started 00: 00: 25, last input 00:00:22, output 00:00:22
Line: 2 vty O Location: Host: 10.0.0.6
connected to 123 PAD <--> X25
W ndow si ze input: 2, output: 2
Packet size input: 128, output: 128
PS: 5 PR 4 ACK 4 Renmpte PR 5 RCNT: 0 RNR no
P/D state timeouts: 0 tiner (secs): O
data bytes 57/62 packets 5/4 Resets 0/0 RNRs 0/0 REJs 0/0 INTs 0/0
Rout er 2#
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Rout er 2#show debug

TCP:

TCP speci al event debugging is on
X. 29 PAD:

X25 PAD debugging is on
X. 25:

X. 25 special event debugging is on
Protocol translation:

Protocol Transl ation debugging is on
Rout er 2#

Rout er 3#pad 345
Trying 345...Qpen
Trying 10.0.0.6 ... Open
User Access Verification
Password: CCCC

Rout er 1>
Rout er 2#
*Mar 1 01:51:31.475: Serial0: X251 RL Call (12) 8 Ici 1024
*Mar 1 01:51:31.479: From (3): 123 To (3): 345
*Mar 1 01:51:31.483: Facilities: (0)
*Mar 1 01:51:31.483: Call User Data (4): 0x01000000 (pad)
*Mar 1 01:51:31.487: PAD: translate call to 345
*Mar 1 01:51:31.491: Call User Data (4): 0x01000000 (pad)
*Mar 1 01:51:31.495: PAD: Creating proto translation on tty2 for vc 1024
*Mar 1 01:51:31.499: Serial0: X.25 ORl1 Call Confirm(5) 8 Ilci 1024
*Mar 1 01:51:31.503: From (0): To (0):
*Mar 1 01:51:31.503: Facilities: (0)
*Mar 1 01:51:31.507: PAD2: Call conpleted
*Mar 1 01:51:31.511: padtcp2: fork started



*Mar 1 01:51:31.515: PAD2: CQutput X29 packet type 4 (Read X. 3 param) len 1
*Mar 1 01:51:31.523: TCBO049E7A4 created
*Mar 1 01:51:31.523: TCBO049E7A4 setting property TCP_TOS (11) 49C853
*Mar 1 01:51:31.527: TCBO049E7A4 bound to UNKNOWN. 44034
*Mar 1 01:51:31.531: PAD2: Control packet received.
*Mar 1 01:51:31.531: TCP: sending SYN, seq 3401534831, ack 0
*Mar 1 01:51:31.535: TCP2: Connection to 10.0.0.6:23, advertising MSS 1460
*Mar 1 01:51:31.539: TCP2: state was CLOSED -> SYNSENT [44034 -> 10.0.0.6(23)]
*Mar 1 01:51:31.559: TCP2: state was SYNSENT -> ESTAB [44034 -> 10.0.0.6(23)]
*Mar 1 01:51:31.563: TCP2: Connection to 10.0.0.6:23, received MSS 1460, MSS is 1460
*Mar 1 01:51:31.567: TCBO049E7A4 connected to 10.0.0.6.23
*Mar 1 01:51:31.571: PAD2: |Input X29 packet type O (Paraneter indication) |len 45
1:1, 2:1, 3:2, 4:1, 5:0, 6:0, 7:4,
8:0, 9:0, 10:0, 11:14, 12:0, 13:0, 14:0, 15:0,
16:127, 17:21, 18:18, 19:0, 20:0, 21:0, 22:0,
*Mar 1 01:51:31.583: PAD2: Setting Paransln, length 44
*Mar 1 01:51:31.587: PAD2: CQutput X29 packet type 6 (Set and Read) len 9
2:0, 4:1, 15:0, 7:21,
*Mar 1 01:51:31.599: PADTCP2: Telnet received WLL ECHO (1)
*Mar 1 01:51:31.599: PAD2: Control packet received.
*Mar 1 01:51:31.607: PADTCP2: Telnet received DO TTY- TYPE (24)
*Mar 1 01:51:31.611: PAD2: CQutput X29 packet type 6 (Set and Read) len 3 2:0,
*Mar 1 01:51:31.619: PAD2: | nput
*Mar 1 01:51:31.619: PAD2: Control packet received. X29 packet type O

(Paraneter indication) len 9 2:0, 4:1, 15:0, 7:21,
*Mar 1 01:51:31.627: PAD2: Setting Paransln, length 8
*Mar 1 01:51:31.631: PAD2: |nput X29 packet type O (Paraneter indication) len 3 2:0,
*Mar 1 01:51:31.635: PAD2: Setting Paransln, length 2
*Mar 1 01:51:31.643: PADTCP2: Telnet received DONT TTY-LOCATI ON (23)
*Mar 1 01:51:31.647: PADTCP2: Telnet received DONT TTY- SPEED (32)
Rout er 2#

Rout er 2#show %25 vc
SVC 1024, State: D1, Interface: SerialO
Started 00:00:10, last input 00:00:07, output 00:00: 05
Li ne: 2 vty O Location: Host: 123
123 connected to 345 PAD <--> X25
W ndow si ze input: 2, output: 2
Packet size input: 128, output: 128
PS: 1 PR 6 ACK 6 Rempte PR 1 RCNT: O RNR no
P/D state timeouts: 0 tiner (secs): O
data bytes 3057/ 60 packets 33/6 Resets 0/0 RNRs 0/0 REJs 0/0 INTs 0/0
Rout er 2#
Rout er 2#
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